

Covington Civil & Environmental, LLC 2300 14th Street Gulfport, MS 39501 228-396-0486

Project Title Project Number Invoice #		On-Call Survey Services 16175.13 16175.13-121							
		Budget	1	Previously Billed		Current Invoice	F	Balance Remaining	Percentage Complete
Task 1: Site Surveys	\$	35,000.00	\$	29,749.57	\$	5,250.43	\$	-	100%
Total	\$	35,000.00	\$	29,749.57	\$	5,250.43	\$	-	100%



Bill To:

City of Diamondhead

Invoice

Invoice #: 16175.08121 Invoice Date: 9/9/2024 Due Date: 10/9/2024

Project: WA 27 On-Call Survey S...

P.O. Number: WA 27 Terms: Net 30

Description	Hours/Qty	Rate	Amount
Professional Surveying Services On-Call Survey Services - WA 27 Services Provided 04/01/24 - 08/31/24			
On-Call Survey Services Andrew Levens, Senior Engineer Don Fayard, 1 Man RTK GPS Survey Crew Louis Chambliss, 1 Man RTK GPS Survey Crew Paul Pitts, Professional Land Surveyor Tommy Parker, Senior CAD Designer Subtotal	3 39.5 4 29.5 13	150.00	435.00 5,925.00 600.00 2,891.00 1,170.00 11,021.00
Labor Credit	1	-5,770.57	-5,770.57

All payments are due by "Due Date" shown on invoice. Finance fees will be charged for all payments received past "Due Date". Please call 228-396-0486 with any questions about invoice.

Total	\$5,250.43
Payments/Credits	\$0.00
Balance Due	\$5,250.43

TIME AND EXPENSES

FILTERS USED:

Time Expense Date In: 1/1/1970 To 9/30/2024

and Bill Status In: Un Billed and Project In: 16175.13 | City of Diamondhead WA 27 - On-Call Survey Services

				* A=Approved	l , B= Billable , S= Sub	omit , Bd= Bille
DATE	ITEM	DESCRIPTION	HRS/UNITS	RATE	CHARGE AMOUNT	*
ndrew Levens						
SERVICES						
16175.13 City of Diamondhe	ead WA 27 - On-Call Survey Services					
5/14/2024	Senior Engineer:	Senior Engineer	0.50	\$145.00	\$72.50	В
	Community Center pa	arcel boundary survey				
5/9/2024	Senior Engineer:	Senior Engineer	0.50	\$145.00	\$72.50	5 B
	Community Center bo	oundary survey coordination				
4/23/2024	Senior Engineer:	Senior Engineer	0.50	\$145.00	\$72.50	5 B
	Aila drainage erosion	repairs				
4/19/2024	Senior Engineer:	Senior Engineer	0.50	\$145.00	\$72.50	5 B
	Maunea Kea Townhor	me easement coordination				
4/12/2024	Senior Engineer:	Senior Engineer	0.50	\$145.00	\$72.50	5 B
	Maunea Kea easemen	ot .				
4/2/2024	Senior Engineer:	Senior Engineer	0.50	\$145.00	\$72.50	S B
	Mauna Kea easement	and Community Center boundary coordination				
тот	AL SERVICES FOR 16175.13 City of Di	amondhead WA 27 - On-Call Survey Services :	3.00		\$435.00	
		Total Services:	3.00		\$435.00	
		Total Services For Andrew Levens:	3.00		\$435.00	
on Fayard						
SERVICES						
16175.13 City of Diamondhe	ead WA 27 - On-Call Survey Services					

GROUPED BY

Employee

Core Standard Report Copyright © 2024 BQE Software

Page 1 of 5 12/10/2024

TIME AND EXPENSES

DATE	ITEM	DESCRIPTION	HRS/UNITS	RATE	CHARGE AMOUNT	*
on Fayard						
SERVICES						
8/29/2024	1 Man RTK GPS:	1 Man RTK GPS Survey Crew	6.00	\$150.00	\$900.00	A B
	Boundary and R/W T. Rain hindering.	ie-ins for Koula Dr. and Kiko Streets.				
8/27/2024	1 Man RTK GPS:	1 Man RTK GPS Survey Crew	4.00	\$150.00	\$600.00	A B
	Sewer measure-down	ns completed.				
8/26/2024	1 Man RTK GPS:	1 Man RTK GPS Survey Crew	5.50	\$150.00	\$825.00	A B
	Topo drainage work.					
8/23/2024	1 Man RTK GPS:	1 Man RTK GPS Survey Crew	8.00	\$150.00	\$1,200.00	A B
	Topo drainage for Ko	ula Drive and Kiko Street areas.				
8/22/2024	1 Man RTK GPS:	1 Man RTK GPS Survey Crew	8.00	\$150.00	\$1,200.00	A B
	Topo for drainage - K	oula drive area.				
8/21/2024	1 Man RTK GPS;	1 Man RTK GPS Survey Crew	8.00	\$150.00	\$1,200.00	A B
	Topo for Drainage Ki	ko street and Kalipekona Way areas.				
TOTA	AL SERVICES FOR 16175.13 City of D	iamondhead WA 27 - On-Call Survey Services :	39.50		\$5,925.00	
		Total Services:	39.50		\$5,925.00	
ouis Chambliss		Total Services For Don Fayard:	39.50		\$5,925.00	
SERVICES						
16175.13 City of Diamondhe	ad WA 27 - On-Call Survey Services					
9/27/2024	1 Man RTK GPS:	1 Man RTK GPS Survey Crew	4.00	\$150.00	\$600.00	A B
	Tommy called and th La way.	ey need more topo data on the north side of Laa				
тот		iamondhead WA 27 - On-Call Survey Services :	4.00		\$600.00	
		Total Services:	4.00		\$600.00	

GROUPED BY Employee

Page 2 of 5 12/10/2024

TIME AND EXPENSES

DATE	ITEM	DESCRIPTION	HRS/UNITS	RATE	CHARGE AMOUNT	*
		Total Services For Louis Chambliss:	4.00		\$600.00	
ul Pitts						
SERVICES						
16175.13 City of Diamondhead	WA 27 - On-Call Survey Service	es				
6/3/2024	PLS:	Professional Land Surveyor	1.00	\$98.00	\$98.00	S B
	go over field wor	k with survey crew				
5/10/2024	PLS:	Professional Land Surveyor	1.25	\$98.00	\$0.00	S
	Review the draw	ings and needs for the Turnberry drainage project				
5/9/2024	PLS:	Professional Land Surveyor	2.25	\$98.00	\$220.50	SB
	Finalized the Sur	vey for the Diamondhead Community Center REV A				
5/6/2024	PLS:	Professional Land Surveyor	2.00	\$98.00	\$196.00	5 B
	Drawing survey					
5/3/2024	PLS:	Professional Land Surveyor	6.25	\$98.00	\$612.50	5 B
	Calc of Survey					
5/2/2024	PLS:	Professional Land Surveyor	4.00	\$98.00	\$392.00	SB
	Calc Survey					
4/30/2024	PLS:	Professional Land Surveyor	1.50	\$98.00	\$147.00	SB
	deed research					
4/22/2024	PLS:	Professional Land Surveyor	4.00	\$98.00	\$392.00	5 B
	begin survey cale	s's and research on Community Center Parcel				
4/18/2024	PLS:	Professional Land Surveyor	1.00	\$98.00	\$98.00	SB
	Finalized Survey,	printed and signed				
4/17/2024	PLS:	Professional Land Surveyor	2.00	\$98.00	\$196.00	S B
	working on CAD	drawing and description of survey				

Core Standard Report Copyright © 2024 BQE Software

Page 3 of 5 12/10/2024

TIME AND EXPENSES

DATE	ITEM	DESCRIPTION	HRS/UNITS	RATE	CHARGE AMOUNT	*
ul Pitts						
SERVICES						
4/16/2024	PLS:	Professional Land Surveyor	3.50	\$98.00	\$343.00	SB
	Calculating Boundary					
4/15/2024	PLS:	Professional Land Surveyor	2.00	\$98.00	\$196.00	SB
	working on Boundary	review				
TO	TAL SERVICES FOR 16175.13 City of Di	amondhead WA 27 - On-Call Survey Services :	30.75		\$2,891.00	-
		Total Services:	30.75		\$2,891.00	
- No 174, 114		Total Services For Paul Pitts:	30.75		\$2,891.00	
ommy Parker SERVICES						
	ead WA 27 - On-Call Survey Services					
9/4/2024	Sr CAD Designer:	Senior CAD Designer	4.00	\$90.00	50.07	А
	Kalipekona Pond Exhi	bit				
9/3/2024	Sr CAD Designer:	Senior CAD Designer	2.00	\$90.00	\$180.00	A B
	5409 Diamondhead D	5409 Diamondhead Drive East Drainage survey				
9/3/2024	Sr CAD Designer:	Senior CAD Designer	3.00	\$90.00	\$270.00	A B
	79295 Diamondhead	Drive East survey				
8/30/2024	Sr CAD Designer:	Senior CAD Designer	3.00	\$90.00	\$270.00	A B
	79295 Diamondhead	79295 Diamondhead Drive East topo / Koko Ct topo				
8/22/2024	Sr CAD Designer:	Senior CAD Designer	3.00	\$90.00	\$270.00	A B
	Kipapa Way & Laa Lad	a Way surveys				
4/24/2024	Sr CAD Designer:	Senior CAD Designer	2.00	\$90.00	\$180.00	SB
	Aili Drainage Survey					
70	TAL SERVICES FOR ASSET 42 L City of Di	amondhead WA 27 - On-Call Survey Services :	17.00		\$1,170.00	

GROUPED BY Employee

Page 4 of 5 12/10/2024

TIME AND EXPENSES

DATE				* A=Approved	, B= Billable , S= Sub	mit , Bd= Bille
	ITEM	DESCRIPTION	HRS/UNITS	RATE	CHARGE AMOUNT	*
Tommy Parker						
		Total Services:	17.00		\$1,170.00	
		Total Services For Tommy Parker:	17.00		\$1,170.00	
		Grand Total Billable Services:	89.00		\$11,021.00	

GROUPED BY

Employee